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Paper 1
PEERIECN |

Time Allowed : 60 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A RAUCRhd A (50) Sgiee TeT el ST Y TR € (2) O ST

H|d H¥q Gred.

Consider a road map of a city having
5 approach roads from other places,
10 junctions and no internal road
has a dead-end. Every junction
except one is associated with 4 roads.
If n number of roads are associated
with the remaining junction then
which of the following values is
impossible for n ?

(A) 3

B) 5

(C) 6

D) 7

An honest person somehow
guaranteed to two different persons
X and Y individually to handover
complete amount available in his
unique purse. In which way/
situation he will fulfill his assurance
given to X and Y at one and the same
time ?

(A) Ifthere is no money in his purse

(B) By paying each one of them half
of the money available in the
purse

(C) By paying nothing to anyone of
them

(D) In the purse the number of
notes/coins of same amount is
even

TehT TRl Tl R Fqcuuq =0
i ST IRUAT U {«euvu EGEILIES
Srediel 3TTed, <81 Hieh 3R (3T

TEAT] SgIh . @WW%
3TY 3R h! Yook <iehld =) &

SR TR ekl n T THesq 319l ?l'{
Gk IV n = fhAd R
AR ?

(A) 3

(B) 5

C) 6

D) 7

TehT WTHITOTh SR e QI SRt
AT YHATA ST Tl ek H JeahTell
QUAT hed ehl. I TR fhar
F1 hedH &H feddll S=A @ Ul
ekl ?

(A) THAS wEE WhH TEdHl

(B) wdmHia A et e aed
feeam

(C) SHIUTeTEl e Ry 9 fgeam

(D) =1 THHE R fhAdre AR/
TN I GEA WH 3R

[P.T.O.



Immediately after 12 o’clock at what
time duration both the minute hand
and the hour hand of a watch
exactly overlap ?

(A) One hour
(B) One hour five minutes

(C) After 1 hour five minutes and
before one hour six minutes

(D) After one hour six minutes

As the price of a book is reduced by
20%, then its consumption is
increased by 25%. How much
percentage difference is there in the
previous income ?

(A) 10
(B) 20
(C) 25
D) 0

The percentage profit earned by
selling an item for Rs. 2120 is same
as the percentage loss incurred by
selling the same item for Rs. 1480.
At what price should the item be
sold to get 20% profit ?

(A) 2160
(B) 2200
(C) 2050
(D) 1900

SEP - 00121/I—C

EINC IS R BN E NI I NIERIRCERICE]

TG el 9 e Fer @y g ?

(A) Th dH

(B) Tw a9 U= fHfe

(C) T a9 U™ A e 9 T a9
R EIRCIEIIE

(D) T a9 Hel fufem®

Teh! iRl fohAd SRel 20 7 T
THedTd el @4 25% A el a Get=

3T Yehel fohdH Wk Tgal ?

(A) 10
(B) 20
(C) 25
D) 0

T % 2120 % 7 fowream fuesoma
kel T 9 e %] 1480 %. A fashear
BN Yiehel dlel UemrE 3¥d, 9t o
o fordt feradie fasheamd 20%

e ?
(A) 2160

(B) 2200
(C) 2050
(D) 1900




Arrange the following terms in a
meaningful-logical order indicating
the correct order.

1. Poverty

2. Population

3. Death

4. Unemployment

5. Disease

(A) 4—2—1—-5—3

B 2—4—1-5—-3

) 1—5—2—4—-3

D) 5—1—4—2—3

If QTXL in a code means OPTG then
in the same code what does GKNS
would mean ?

(A) EIJO

(B) FIKN

(C) EHJN

(D) FEHJ
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eI Hehod T Adqui-qiehes Tge 4
1. <fs™

2. drREE

3. T

4. SUST

5. TSR

A) 4—2—1—-5—3
B 2—4—1—-5—-3
€ 1—5—2—4—3

D) 5—1—4—2—3

TR T Gehare 3R QTXL = T

OPTG 379 B1d 318, T T TehdreAl

MR GKNS = &I & 3¥aA ?
(A) EIJO
(B) FIKN
(C) EHJN

(D) FEHJ

[P.T.O.



By drinking Bornvita with water
gives energy, by drinking Complan
with water gives energy, by drinking
milk with water gives energy.
Therefore, by drinking water one
gets energy. This is an example
0) SRR .

(A) Invariable relation

(B) Fallacy

(C) Perception

(D) Comparison

Which of the following is/are the
valid conclusion/s based on the
statements given below ?
Statement I : All birds are white.
Statement II : All parrots are birds.
Conclusion 1 : Some birds are
white.

Conclusion 2 : Some parrots are
white.

Conclusion 3 : All parrots are
green.

Conclusion 4 : Some birds are not
white.

Codes :

(A) 1 and 2 only

(B) 1 and 3 only

(C) 2 and 3 only

(D) 3 and 4 only

SEP - 00121/I—C

N e o = fa

e N
dHfogel gruderer fued™ vt ad.

P AToaTeRIeR e Tkl 3d. g4

qroareie]. fueam TRkl 3d. FgUE drofl

e STt 3d. § hem SRR e 2
(A) ==

(B) BTy

(C) & JHII

(D) 39HH

Trela faamm= SMER qEadeh! v

frehel 3faa emea ?

faam I : wd wafl Ol omRa.
faam I : wd doe uaft emRa.
feRe 1 : FE Ua Uet emea.
frewd 2 : RN de Wil a7
frerdl 3 : w9 U @ smea.
R 4 @ FEN Usft T TR
Haha :

(A) 1 a7for 2 ek

(B) 1 =0for 3 e

(C) 2 37for 3 heri

(D) 3 37Ul 4 e
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10. WETeicidsh! vt efhdl feeiean @

Hehoq e ToY ek <rafad 2

10. Which of the following diagrams

shows the correct relationship

among the three terms — Athletes, CpRIERED eesre, T, wr

Women, Mothers ?

(A)

(A)

(B)
(B)

©) (&)

D) D)

0@@@
@ @ @@

7 [P.T.O.



Directions :

Number of Students

Question numbers 11 and 12
are based on the following

diagram :

The following is a diagram of a
certain college showing the number

of students passed and failed during

the years 2012 to 2015 :
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gyq wule, 11 AT 12 gdia

MMFdtal MR M

JEIe SR Ueh faf¥Tse Felforenerrdiel
A0 & STl foreneAfst 2012 7 2015

I quigEiel ARSIl STl 3R.

10001 1000
900+
2004 800
7001 700 2
C~
g 600+ %
'E 500+ 500 2) é
E 400+ ﬁoo % %
300+ / / /
ZERZ N
i 200 / / =
200 7/ % % é
100+
0 é // // é > Years ()
2012 2013 2014 2015
[] Failed (3¥io0)

Passed (30i)




11.

12.

13.

In which year is the percentage of

passing of students maximum ?
(A) 2012
(B) 2013
(C) 2014
(D) 2015

The percentage of passing of
students in examination for all the
2012 to 2015 combined

togetheris ..................... .
(A) 50

years

(B) 57.14
(C) 60
(D) 70

Arithmetic mean of 12 observations
is 40. The smallest and the largest
are 20 and 60

respectively. If we ignore the smallest

observations

and the largest observations then the
arithmetic mean of the remaining

observations .......cccccceeeeneennn )

(A) will increase

(B) will decrease

(®)

will not change

(D) cannot be obtained due to

insufficient data

11.

12.

13.

SEP - 00121/1—C
U FuHEY 3o o= famieatt

TFhall Hald S oTE 7
(A) 2012
(B) 2013
(C) 2014
(D) 2015

2012 9 2015 a1 T IET THART

TOUd S0 BIoATE] ZaRh A

R,

(A) 50

(B) 57.14

(C) 60

D) 70

12 Frieor= wifora 72 40 o1, fopmm
afor ware e ergwe 20 Sfur

60 3Ted. SR 319U fwa™ 9 A
THraT0r TTesetl @) Steiean frerom= Trforg

(A) e
(B) =

(C) FECUR et

(D) 3Tg=a1 AEfHes whiedl AR &l

[P.T.O.



Directions :

14.

15.

Question numbers 14 and 15
are based on the following

information :

Out of 80 players 35 play cricket, 42
play hockey, 25 play football, 8 play
both cricket and hockey, 10 play
both cricket and football, 7 play both
hockey and football, 3 play all the

three games.

How many players are playing only

one game ?
(A) 102
(B) 80
(C) 61
(D) 63

How many players play exactly two

games ?
(A) 19
(B) 61
(C) 80

(D) 16

SEP - 00121/I—C

gt ¢

14.

15.

99T ATk 14 MUT 15 § G&
ey menia Mea :

80 35 fohehe Tesam, 42
Fioh! Weadld, 25 Hesial Veaald, 8 Sl
fhthe @ B! Eoedd, 10 Tel fohehe
d Thesllal Wokiid, 7 Sl Biehl o et

Weadd, 3 99 fadl YohRd Wed Teadld.

T ThTd YHRA] ©B BB

CBEd we fohdr ?
(A) 102
(B) 80
(C) 61

(D) 63

Fad S GRRE s TauarE el

fepeit 2
(A) 19
(B) 61
(C) 80

D) 16

10



16.

17.

18.

Which of the following is the correct
full form of ERNET ?

(A) Entertainment and
Recreational Network
(B) Entertainment and

Refreshment Network
(C)

Educational Reference Network

(D) Educational and Research

Network

Who helped Late Prime Minister
Rajiv Gandhi in revolutionizing

India’s telecommunication policy ?
(A) Nandan Nilekani

(B) Sam Pitroda

(C) G. Parthasarathi

(D) A. Raja

Which among the following is

basically an instant messenger ?
(A) Facebook

(B) Instagram

(C) Twitter

(D) WhatsApp

16.

17.

18.

SEP - 00121/1—C
ERNET =1 3= I 3Tenar fosar

e FE 2

(A) T 3fe Rfewmd S

(B) TeeTHe 3fg fUheme Jeash

(C) TTHIAA (HTH -edeh

(D) TgHYAA i Rad Aeas

feaTa gauemE TS el A YRAreA

THAR RO ShIfTehReh Jaal SIS v

Ul HEd hail ?
(A) e fretshof
(B) ¥H fuwsien

(C) Sft. WrefEmredt

11

[P.T.O.



19.

20.

21.

‘Sarathi’ is the web portal of ............ .

(A) Ministry of Civil Aviation

(B) Ministry of Women and Child

Development

(C) Ministry of Road Transport and

Highways
(D) Ministry of Rural Development

‘BYOD’ in the content of digital
initiatives in higher education in

India is .....cooeuunneeee .

(A) Be Youthful On Digital
(B) Buy Your Own Device

(C) Bring Your Own Device
(D) Be Yourself On Digital

Presence of E.coli in water is an

indicator of ................ contamination.
(A) Sewage

(B) 0Oil

(C) Pesticide

(D) Herbicide

19.

20.

21.

SEP - 00121/I—C

‘IReA’ ¥ YEAUR! RO HehaiUies

Aqe ?

(A) AFTH TOE AR HACH

(B) Hfeen aufor sl forshre Haterd
(C) T JTRqH ST HeMr Haer™
(D) ™ Tk Hormer

TRAd 3ed e e fefsea

&R FAIFA=ar §g9ida ‘BYOD’

(A) &t guga 31 fefSea

(B) 9@ g3R 3 feemmw

(C) form goR oA fexrd

(D) =t gar@ew I fefSea
qogEed E.coli 30 WUN TIOR3

12



22.

23.

During day time, noise pollution
in residential area should not

exceed ........coeeernennen. .
(A) 75 dB
(B) 55 dB
(C) 65 dB
(D) 80 dB

To regulate and control the

transboundary movement of

hazardous waste is also known

AS cereeereenee e .

(A) Basel convention
(B) CITES

(C) Ramsar convention

(D) Wetland convention

22.

23.

SEP - 00121/I-C

o

T TRATAIS! fea@n a1 diga=a UTdesi=

S S YHI0T qEayHml 3T

(A) 75 dB

(B) 55 dB
(C) 65 dB
(D) 80 dB

Hdeh el IR dedestal A o
=T o= afeRe WA - sieerd
SIS

(A) 99d TREg

(B) CITES
(C) T 9REE
(D) IS Ufoe

24. There are number of Acts in India | 24. YRAMHE YgUUl Tevarddt o
to prevent and control of pollution. FOIS! ST IS 3, WQ@H
One of the following Act is known HTIS] ‘FgATdl Thos! Rl BUH
as ‘Comprehensive/Umbrella Act’ ? @@ Sl
(A) Air Pollution Act (A) T IHUT R
(B) Water Pollution Act (B) STl 90T <h1act
(C) Environment (Protection) Act (C) TAEXol (ERETT) AT
(D) Liability Act (D) SETEGRI hIFaT

13 [P.T.O.



25.

26.

27.

How many goals have been set for
sustainable development by UN to
achieve social and economical

development ?
(A) 20
(B) 17
(C) 10
D) 16

Which of the following universities
was the centre of military education

during Vedic period ?
(A) Takshashila

(B) Nalanda

(C) Gunsheela

(D) Kundinpur

‘Minimum period for Ph.D should be
of two years and there should be
viva-voce examination for Ph.D
degree’. This recommendation was

made by ......cceeeeeeenenns .

(A) Indian University Commission
(B) Sadler Commission

(C) Radhakrishnan Commission

(D) Kothari Commission

25.

26.

27.

SEP - 00121/I—C

ISR 9 offYer foashramnet gamaee
FE SMeed foehrardra! foheil €21 Stferedt
amed ?

(A) 20

(B) 17
(C) 10
(D) 16

Treftadst wiva fagardts, dfcs
FHESHE, TR I&0me 3 B 2

(A) qLIeTe

(B) reien
(C) Toreiten

(D) HfSTR

‘g -2t uedd! foRhu wTemast gH
IETET STHET 9 YUl diel Tam

14



28.

29.

30.

Teacher education is .................. .
(A) Professional education

(B) Vocational education

(C) Technical education

(D) Skill education

Nomenclature of education

department of India has been
changed to Human Resource

Development in the year ............. .
(A) 1975
(B) 1986
(C) 1995
(D) 2005

Which of the following institutions
is not funding for research activities

in higher education ?
(A) DBT

(B) DST

(C) ICSSR

(D) NCTE

28.

29.

30.

SEP - 00121/I-C

fRrerss foiaron ©
(A) =FmeETgen frem

(B) #e fRiam

(ORIEENEL

(D) wivTed fao

HATTel TR1&701 ST 19 /e FEieH

el

(A) 1975
(B) 1986
(C) 1995

(D) 2005

EoiTedehl hIUTdl TEAT I=a TITequmdier

GelieAEel faxqeae &ia A@r ?
(A) DBT

(B) DST

(C) ICSSR

(D) NCTE

15

[P.T.O.



31.

32.

33.

Understanding level of teaching

includes .................. .
()

(i) Aptitude

Memory

(i) Insight
(iv) Creativity
(A) (@) and (i7)
(B) (ii) and (iii)
(C) (@) and (i)
(D) (i) and (iv)

The most intellectually fertile period

of a human being is .......cc.c..ceeeeees .
(A) Childhood

(B) Adolescence

(C) Adulthood

(D) Old age

‘Online Discussion Forum’ of

SWAYAM is for ......ceeeeenenn. .
(A) Clearing the doubts

(B) Self-assessment

(C) Watching video lectures

(D) Downloading reading material

32.

33.

SEP - 00121/I—C

(A) () T (i)
(B) (z1) =for (2id)
(C) () =T (3i7)
(D) (i) A (v)

A=A SaAaTdie Feal < difges

qulehd=l e
(A) =eror
(B) RHITE
(C) Hrereree
(D) Fs=

SWAYAM =7 * 37feie fethe™ wRA’

(A) TRTIHTE HITITHIS!

(B) H-HeAHHIE]
(C) fetel wres] evamEet

(D) e ST hivIAHS!

16



34.

35.

History cannot be taught by

USING .ovvveeeeeeeenns .

(A) Digital charts

(B) Maps

(C) Demonstration method
(D) Role play method

Absolute and relative grading are

(A) Indirect
(B) Direct
(C) Special
(D) Standard

35.

SEP - 00121/I-C

AT IR FhR 3.
(A) JAgTY

(B) 93«

(C) foere

(D) wHIfra

36. Most essential quality for a | 36. HENEEHMER qaid SfreredeR O
researcheris ......cccccceceeeenunneee. . B B
(A) Punctuality (A) FeReigon
(B) Intelligence (B) dfga
(C) Genuine interest in research (C) ERMEARITE HATIRA STHOM STfie=t
(D) Mastery over own subject (D) Ta=n fawereadia gy«

37. Recording of ‘reflective notes’ in | 37. I[urcHesr WeNEHR ‘foaeia fedt'=am At
qualitative research is called FO G e Y U,
i:)COdmg ............. . W) T (Coding
(B) Memoing (B) feum &ew (Memoing)

(C) Decoding (C) FHmehfashieo (Decoding)
(D) Instructing (D) g= 0 (Instructing)
17 [P.T.O.



38.

39.

40.

A variable ‘Academic Achievement’

will be measured on ...........c........ .
(A) Nominal

(B) Interval

(C) Ratio

(D) Ordinal

If a frequency distribution has some
extreme scores then appropriate

measure of central tendency
will be ..coovvvviiiiiiiiiiinns .

(A) Mean
(B) Median
(C) Mode
(D) Range
A

L0 .

research paper is based

() Primary data
(i) Secondary data
(iii) Descriptive data
(A) Only (i)

(B) Only (i)

(C) (@) and (i)

D) (ii) and (iii)

39.

40.

SEP - 00121/I—C

SR IRETRAT foaComaey el ekl YTaiieh
A T ST YR A iy

T 319

(A) HHHH

(B) \eeh

(C) dgcth
(D) fa=r

TENYA @@ (Research paper)
I IMETRA 3T

(@) wutHe wfedt (data)
@) TAH el

(i2i) TOTTCH AfE

(A) Ha@ (i)

(B) e (i)

(C) (@) or (i2)

D) (i) for (i)

18



Directions :

Answer Question Nos. 41 to 45
based on either the English

passage or the Marathi passage :

An earthquake comes like a thief in
the night, without warning. It was
necessary, therefore to invent
instruments that neither slumbered
nor slept. Some devices were quite
simple. One, for instance, consisted
of rods of various lengths and
thicknesses which would stand up on
end like ninepins. When a shock
came it shook the rigid table upon
which these stood. If it were gentle,
only the more unstable rods fell. If
it were severe, they all fell. Thus,
the rods by falling and by the
direction in which they fell, recorded
for the slumbering scientist, the
strength of a shock that was too weak
to waken him and the direction from
which it came. But, instruments far
more delicate than that were needed
if any really serious advance was to

be made.

SEP - 00121/I—C
o

U9 HIG 41 d 45 ¥ Ye fooroan
IATHTET AT AR, SASHATA
foham TG SaAr=madier Uyl 3
;o
IRt fog el ST qHSas T
TR ST ATTse=qul FHTSTeeee
ST el SHI=AT ThRIMaR |Ie 0l
3EFE 3Me. WA o Sfesedyul TR,

firean =1 af¥reearen foea SFuRE S

Thichgd TRE Hoiell 378 aare fa9

&N

T FRE eien SR, Jii=Hred <¥ma

Sieg] S-S oS BT, el Siem

UL S0 Skl o il 3T9d, deal

STUH Sl ATEHAN helhdl ST
Ja MY AMSl . TYHHR  hla-
TENA hIFRT 3T TR SARcam!
SHeAEdrE! I AHS Sl ST

19
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The ideal to be aimed at was to
devise an instrument that could
record with a pen on paper the
movements, of the ground or of the
table, as the quake passed by. While
I write my pen moves but the paper
keeps still. With practice, no doubt,
I could, in time, learn to write by
holding the pen still while the paper
moved. That sounds a silly
suggestion, but that was precisely
the idea adopted in some of the early
instruments (seismometers) for
recording earthquake waves. But
when table, penholder and paper are
all moving how is it possible to write
legibly ? The key to a solution of that
problem lay in an everyday
observation. Why does a person
standing in a bus or train tend to
fall when a sudden start is made ?

It is because his feet move on, but

his head stays still.

SEP - 00121/I—C

T fog AT 81 foam S etei
T IR, FRU 9RdE fig wHe @

oAl 5R‘16IHIC| AAd H&HIA Tl

ISl 378, ATl Uahid STy

STATIRAT holed JGH TS Hobid

Tl fég Tepdren Afereaae IRt

HTSITAT Hdd FSHTT AT U U

AU TS 3. A ST A
sfor faeg oM™ S Wikpfas dHH
R sfaerad @ fohell Tehedul =T
g omfor e AT e TR
e g0 e Fogd. WA

o ha¥

(Qd.

qIME A STIeTe] =i

AR STESHATAT ST |IHIfSIeh 3T

GG IRTSHT HEeTal qurdd,

TRl 3T & Jod e fhar

a

dicdgseeal el gHien el all @&

TEE ST JROTHRRER T S0

ITehal.
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41.

42.

This passage says that early
instruments for measuring earth-

quakes were .................... .
(A) Faulty in design

(B) Expensive

(C) Not sensitive enough
(D) Not sturdy

The author says that it was

necessary to invent instruments

42.

SEP - 00121/I-C

e el ukal

SIEERSU) SHdId; <p[Ul C‘C‘Iit{'\l AleHAHdAl

to observe an earthquake
because .........ccceueen.e. . FeHE THENE WA <.
(A) We have to prove that we are )
technically sound (A) ”Ei faem =R
(B) An earthquake comes all of a (B) W foum o
sudden like a thief
(C) It will allow us to show our (C) el SR, 3w 9=
expertise
(D) qaEtd I, ITH e
(D) We have to keep ourselves busy
43. The earlier device consisting of | 43 R Thdra Ifymea worsy =
rods was replaced because it
failed .................... . (A) {‘Ii{ﬁ’)l?‘lch l‘lr{olci\d
(A) To measure a severe earthquake
(B) To record the direction of the (B) fegmafTean
earthquake
(C) To measure a gentle earthquake (C) e
(D) To record the movements with
a pen on paper D 3
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44.

45.

46.

The everyday observation mentioned

in the passage is related to ................. .

(A) The tendency of a standing

person to fall when a bus or

train moves suddenly

(B)

The movement of a bus or train

(C) The passengers standing in a

bus or train
(D)

The sudden start of a train

According to the passage, the
meaning of the word ‘slumber’

IS tevverreeeeriieen .
(A) Shock

(B) Sleep

(C) Ground
(D) Suggestion

According to Newcomb

is not so much important in

communication cycle.
(A) Sender

(B) Receiever

(C) Media

(D) Message

44.

45.

46.

SEP - 00121/I—C

TR ATSHATTHT YO I 38 ?

(A) TEHdrEEHd

(B) YA daxEd

(C) 9RdE gfas™m

(D) Ufqerfass Femq

A A HIvId Sieeh SAfeen wHed®
qR ?

(A) arEFa S g

(B) oTeHd 30T HEHd!

(C) aTeFa STfor gfae™

(D) =TEHA Al el
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47.

48.

49.

50.

What is one of the following most
important factors to become
communication effective ?

(A) Media

(B) Message

(C) Sender

(D) Immediate feedback

Supervisor in factory orders workers
and workers follows the order. This
type of communication.

(A) Vertical
(B) Horizontal
(C) Non-formal
(D) Distance

Unattentiveness of receiver may
affect ....ccovenieenns .

(A) Sender

(B) Message

(C) Media

(D) Effectiveness of communication

Programmes on the T.V. channels

sometimes misleads society

because .........ccoeeueeeenne. .

(A) Audiences are in large numbers
(B) Audiences are illiterate

(C) Audience group is heterogeneous

(D) Difference in sender and receivers
perception

47.

48.

49.

50.

SEP - 00121/1—C
YO YHTST BIVATHIST ETeATeideh! ShioTd]

B WAl Hewequl e ?

(A) w1y
(B) #ew
(C) Uik
(D) RE FeAeLo

FHRETANA JIA&TR HIATRAT ST
Sl o df HIEOET Tdel. € FUu
YA R

(A) T
(B) &fas
(C) TAT=eh

(D) =™

qIRY(A aTfgareaiia wTHAHHA HEl Aol

HHTSITEAT Foh =41 TG ~efrd, shieo .
(A) #ir= JeT gu 3TEd

(B) o fReR o19aa

(C) =i Tqg wgforel 3Ted!

(D) TSk F UTgeh ATAT AT Hich
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ROUGH WORK
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